ECON 201

MIDTERM EXAM

SPRING 2000

NAME: _________________________________________________

1. Are the following statements true or false?  Explain in each case.  

a. (15 points) “Certain very talented people have a comparative advantage in everything they do.”

False; it is not true that some people have a comparative advantage in everything they do.  In fact, no one can have a comparative advantage in everything.  Comparative advantage reflects the opportunity cost of one good or activity in terms of another.  If you have a comparative advantage in one thing, you must have a comparative disadvantage in the other thing.  It is, however, true that certain talented people have an absolute advantage in everything they do.  They may be able to do everything faster or at lower cost that another person.  However, even the less talented person will have a lower opportunity cost of production in one area.

b. (15 points) “If a certain trade is good for one person, it can’t be good for the other one.”

False; it is not true that if a trade is good for one person, it can’t be good for the other one.  Trades can and do benefit both sides – especially trades based on comparative advantage.  If both sides didn’t benefit, trades would never occur.

2.  (22 points) For more than a century, milk producers have produced skim milk, which contains virtually no fat, along with regular milk which contains 4 percent fat.  But a century ago, skim mild accounted for only about 1 percent of total production, and much of it was fed to hogs.  Today, skim and other reduced-fat milks make up the bulk of milk sales.  Explain this in terms of supply and demand.  Be sure to use a graph to illustrate your answer.

Consumers’ preferences have changed since the early 1990’s.  People are more health-conscious and more concerned about fat.  Therefore, they have switched away from buying full-fat milk and are demanding skim milk in larger quantities.  This shifts the demand curve for skim milk to the right and the demand for full-fat milk to the left.  As the graphs show, this increases the quantity of skim milk produced and reduces the quantity of full-fat milk produced.  
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3. Consider the following quote from the July 8, 1993 issue of the Wall Street Journal: “A bumper crop of oranges in Florida last year drove down orange prices.  As juice marketers’ costs fell, they cut prices by as much as 15%.  That was enough to tempt some value-oriented customers: unit volume of frozen juices actually rose about 6% during the quarter.”  

a. (8 points) Given these numbers, and assuming that no other determinants of demand changed, what was the price elasticity of demand for frozen orange juice? 

The price elasticity is 6/15 = .4

b. (10 points)What do you think happened to total spending on frozen orange juice?  Why?

Total spending for O.J. dropped.  Although sales increased, the price dropped.  Since the good is inelastic, this led to a drop in total spending and revenue.

c. (15 points)Suppose studies estimate that the price elasticity of demand for all juices is 0.2.  Explain why you expect to see a different elasticity for frozen orange juice than for all juices.

All juices are more inelastic that O.J. because of the market definition.  There are many substitutes for O.J., namely grapefruit juice, apple juice, etc.  However, there are fewer substitutes for all juices, if you want a fruity, healthy drink.  

4. Suppose the government has decided that the free-market price of cheese is too low. 

a. (15 points) Suppose the government imposes a binding price floor in the choose market.  Use a supply and demand diagram to show the effect of this policy on the price of cheese and the quantity of cheese sold.  Is there a shortage or a surplus of cheese?

The imposition of a binding price floor in the cheese market is shown below.  In the absence of the price floor the price would be P1 and the quantity would be Q1.  With the price floor set at Pf (which is greater than P1), the quantity demanded is Q2, while the quantity supplied is Q3 so there is a surplus of cheese in the amount of (Q3-Q2).
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b. (15 points) Is the price floor more efficient than the free market solution?  Explain graphically and in words using the concepts of consumer and producer surplus.

The price floor is less efficient because total surplus has been reduced.  Total surplus before the price floor is the dotted area plus the striped area, while total surplus after the price floor is only the striped area.  The dotted area is called deadweight loss.  
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c. (10 points) Farmers complain that the price floor has reduced their total revenue.  Is this possible?  Explain.

The farmers’ complaint that their total revenue has declined is correct if demand is elastic.  With elastic demand, the percentage decline in quantity would exceed the percentage rise in price, so total revenue would decline.

d. (15 points)In response to farmer’s complaints, the government agrees to purchase all of the surplus cheese at the price floor.  Compared to the basic price floor, who benefits from this new policy?  Who loses?

If the government purchases all the surplus cheese at the price floor, producers benefit and taxpayers lose.  Producers could then produce a quantity Q3 of cheese, gaining substantial producer surplus.  But consumers would only buy the quantity Q2 of cheese, so they are in the same position as above.  Taxpayers lose because they would be financing the purchase of surplus cheese.  Society as a whole loses in the sense that total surplus in the cheese market isn’t being maximized.

5. Consider the market for Nike sneakers.  For each of the events listed here, identify which of the determinants of demand or supply are affected.  Indicate whether supply or demand (or both or neither) increase or decrease.  Using a graph, show and explain the effect of the event on the price of textbooks and on the quantity sold.

a. 
(15 points) The price of Reebok sneakers increases.

Reebok sneakers are a substitute for Nikes so the demand for Nikes rises.  This increases the price and quantity of Nike sneakers.
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b. (15 points) Nike is able to move a significant portion of its production to Mexico where labor costs are much lower than they are in the U.S.

As input costs fall, the supply of Nikes increases leading to a decline in the price of Nikes and an increase in the quantity sold.
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6. (30 points) Suppose that in the year 2000, the number of births is temporarily high.  How does this baby boom affect the price of baby-sitting services in 2005 and 2015? (Hint: Five-year olds need babysitters, whereas fifteen-year-olds can be baby-sitters).

A temporarily high birth rate in the year 2000 leads to opposite results on the price of babysitting services in the years 2005 and 2015.  In the year 2005, there are more 5-year olds who need sitters, so the demand for babysitting services rises, as shown in the first graph.  The result is a higher price for babysitting services in 2005.  However, in the year 2015, the increased number of 15-year olds shifts the supply of babysitting services to the right, shown in the second graph.  The result is a decline in the price of babysitting services.
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